Parts List «..x

Bf) 7 NI L1

Model: BCWZ233S 18—V RF3—F 523972

BIGIUI

2015.03.






MmEROIEAIZONT

1.

o0 AN

B

gl BN =

D TEXDEIE

wiEE () - BRES - BREH - HEZHETILY,

INFEER (TR R DEEFRESSETI,

BB (Ewsd THILMIERMA] ZZEATIL,
AKEAKRITEBLIZBDEHYET,
AHMBERIBBEDAFELGCERTHIIELHYFET,

Fig. DFRRIZDULNT

ATAMR—=UIT Fig. XXSRERTLTHYET . COXXKIEIATRIMN—D
ELtORHBLESZRLET,

DA R
b N v oSS 2
IOy (D595 —R = DB = AAIL) [EE231] e, 6

s AN QY b= @ 1V & St D I =1 =K 1 (oo 10

- IVVY (F¥TLA - IT79)—F - Ta—IILAY) [EE231] . 12

S =1 TS 14



1 - BCW233S
xR

‘_—-—-—'_'_\

36

|
RGOS,

BIEHDELVRRE—F BCW233S

1.

&L




RHES HBRES B & & & % fis
1-1 364483 | BCW233S 1
1-2 817002 | 6 AYFK LI (HWSW 4 | M5X20(SM)
1-3 221473 | 979Fr—-A9348T 1 |4~6794
1-4 221474 | 939Fh—-2 1
1-5 016405 | A 7YY 1 | #6200ZZ
1-6 013825 | CH'4hA 1 | 7+39 30
1-7 096042 | 6 HYFK LI (HWSW 1 | M5X30 77 &9t
1-8 229091 | 979FNFLTM 1
1-9 237162 | TUNIY ) AR 1
1-10 218476 | T UMV IEMITY 1
1-11 237163 | KIVUN4hy A YA 1 | 24XT1.6
1-12 215532 | kva4=%") 1
1-13 054691 | YUhtHy 9347 1 [ 14744
1-14 089738 | 6 Ay Wb (+ 77 V) 1 | M5X15
1-15 215418 | nUNWMIYTATY 9347 1 [ 16744
1-16 092561 | 6 A& Lk (+)SW 6 | M5X25 77" &b
1-17 237165 | Y'IUMNA7H34T 1 |18~ 23794
1-18 237166 | Y I{UMNAT I 1
1-19 261246 | 6 W97 HI+HK L WSW 1 | M5X25
1-20 231871 | 6 AYTFYFHK b 1 | M5X12
1-21 236962 | /7 1 | M8X26L
1-22 126990 | 6 K91k 1 | M8
1-23 550131 | E7%'h'% 1 | M8
1-24 237504 | Fa194v-) 1 | PL(3%9=1% E/G) hYn
1-25 237170 | H'{hy B Yh4 1
1-26 237171 | TUN9YIB 1
1-27 216079 | AN 1
1-28 225835 | ¥ Yh-A934T 1 |29 ~ 34794
1-29 225897 | 6 hHK Lk (W 1 | M6X8 77 &b
1-30 092550 | 6 HYE Lk (H)SW 1 | M5X25-7T 77° &Y+
1-31 SEEEmE | \T/FAA 412852 1
1-32 SEENEE | /\T/F A B 640095 1
1-33 S | YA RY3 Y 640090 1 | M8t4Y)
1-34 225896 | 6 hHK Lk (+) 1 | M5X10 77" &b
1-35 215350 | ¥Y¥v7° 1 (3t 24
1-36 237305 | #—L7°L—} 1 | BIG-MBCW233S
1-37 231654 | NJv—4 1 | ECOFAIL
1-38 235791 | nUMIL A ThA 1
1-39 235792 | AUNIL B VhA 1
1-40 236346 | MJALN =934T (16) 1
1-41 236111 | 3”1 1| MBIY 39 -F43-)
1-42 235748 | ARYMLIAY 1
1-43 234549 | AV -+F1-T 1
1-44 220533 | hAhh NN H34T 1
1-45 S | 3AAVAN-)34T 620675 1 | 46 794




1 - BCW233S
xR

‘_—-—-—'_'_\

36

|
RGOS,

BIEHDELVRRE—F BCW233S

1.

&L




RHEES HAES B &M A W & % & =
1-46 092561 | 6 AR L+ (+)SW 2 | M5X25 77°9b
1-47 224624 | ¥V7°)— 9BIG-M 1




2 - BCW233S
TV (D595 —X -5 - a4)L) [EE231]




RHES HBRES B & & & % fis
2-1 859742 | IVY'Y 1 | EE231/32
2-2 289639 | VU4 1
2-3 289643 | ' ATYE 1 | T05
2-4 267290 | 24991 2 | M5X20WSW
2-5 272744 | {UY1L—4 1
2-6 267049 | h'A4Yb 1
2-7 269826 | FAIRY (H)WSW 2 | M5X25WSW
2-8 289657 | ¥777tV7 1
2-9 266402 | A%Y1 2 | M5X55 770
2-10 273262 | B ATYE 1
2-11 273519 | TV —hin— 1
2-12 269827 | FAIRY (H)WSW 1 | M5X16WSW
2-13 272531 | b7hi=av77)—+t 1
2-14 289774 | %Y1 1 | BY7447° -M6X15
2-15 261878 | Tk 1 | M6
2-16 280144 | AYE' U2y (+) 1 | 4X16 4YEV7 7R
2-17 273674 | 950942 1
2-18 280488 | ATYUY 2 | PPL6001
2-19 261492 | AALY—I 1
2-20 261386 | TM1ILY—I 1
2-21 055185 | Ch'4hAn 1 | 7F37 28
2-22 261612 | 6 AYT7FY¥K Wb WSW 3 | M5X30
2-23 272204 | E°AbY 1
2-24 264891 | E'ANYUY 2
2-25 261036 | E'AMUEY 1 | 5.7X8X23.5L
2-26 263957 | Z—FILATYVY 1
2-27 261576 | $=9)v7’ 2
2-28 267193 | 9709v% 70077 —b 1
2-29 S | )7UFT7tU77) 413813 1 |30,31 794
2-30 269169 | 979Fv1 2
2-31 269173 | A7)y 1
2-32 269647 | 479FK Wb 2
2-33 269175 | 7YYy 2 | 6.1X15X1.6
2-34 261777 | 9I-7"79Y% 2
2-35 283386 | 77VAN— 1
2-36 269831 | FAIRY (WSW 4 | M5X20WSW
2-37 272066 | Y92 TEVT) 1 |38~ 44794
2-38 261356 | O—4 1
2-39 s | 17°29Y3V2MNTEUTY 462152 1 | 40 ~ 44 7)1
2-40 267401 | 34l 1
2-41 272068 | 3-FT7tY7" 1 | 42 ~ 44 7)1
2-42 272069 | 1—-F 1
2-43 261074 | 7’39 %%v7° 1
2-44 261075 | 794 1
2-45 261076 | nUHYE— 1 | 3X10




2 - BCW233S
TV (D595 —X -5 - a4)L) [EE231]




RHES HBRES B & & & % fis
2-46 261417 | #5342yt 1 | M8

2-47 280381 | AA"—# 2

2-48 261256 | 6 AYTFYFHK Wb WSW 2 | M4x25

2-49 286739 | AN-9739° 1 | cJeY

2-50 267492 | -} 1

2-51 282880 | -} 1

2-52 264588 | 4507 1

2-53 269705 | A 1| 5V W5 vdy
2-54 274191 | A1 1| A9FUFa94 ¥39




3 - BCW233S
T2 (JaqI)LARZ—A) [EE231]

14




RHES HBRES B & & & % fis
3-1 282404 | Y NRI-4T7HEVT) 1 | 2~13794
3-2 282405 | A4—47t7") 1 [3~10794
3-3 283411 | -l 1
3-4 283412 | hA7L—+ 1
3-5 280930 | 4UN=R7VUY 1
3-6 280931 | ANAINAT YUY 1
3-7 267213 | ¥YbRYY2 1
3-8 280932 | 0-77tU77) 1 1910794
3-9 280933 | A%—40-7° 1
3-10 267219 | A5-4)7 1
3-11 280934 | 7-IT7€V7Y 1
3-12 280489 | FATIRY (H)WSW 2 | M4X20WSW
3-13 269833 | FATIRY (H)WSW 1 | M4X16WSW
3-14 275380 | 3A° 1




20

Iy (F¥TLE-ITT7H)—F - Ja—I)LR2Y) [EE231]

4 - BCW233S

18

V4
N\

21

=)




RHES HBRES B & & & % fis
4-1 S | Y7 LATEU77) 428383 1 [ 2~1579L4
4-2 274472 | FVTH T4 1
4-3 262991 | N—-Y'K' T4 1
4-4 262992 | FV7hN - 1
4-5 SR 7517 640075 1
4-6 283905 | 4'4¥77L4 1
4-7 262993 | ' AHYE 1
4-8 262994 | 44Y77L4 1
4-9 282576 | h'A4yb 1
4-10 289396 | ¥'IVh 1
4-11 261871 | O vy’ 1
4-12 261876 | vy’ 1
4-13 261658 | AA'lL 1
4-14 264682 | A%9Y1 2
4-15 262996 | A%9Y1 4
4-16 261864 | H'A4b 1
4-17 264691 | O vy’ 1
4-18 266420 | 9Y—FT7tv7") 1 119~ 21794
4-19 264709 | 9Y—=thin— 1
4-20 266433 | h-ATtY7") 1
4-21 S | ILAUM 620683 1
4-22 269834 | FATIRY (H)WSW 2 | M5X60WSW
4-23 273515 | 497 €U77 1 |24 ~ 34791
4-24 273516 | 71—-Il4v9 1
4-25 S | 7V7%Y)7TEU77Y 640070 1 | 26794
4-26 269377 | NYEY 1
4-27 261696 | 7°)—%"4947 1
4-28 265752 | *UNIAINATTEUTY 1 |29~ 347914
4-29 264031 | N47934T 1 |30~ 32794
4-30 261115 | 4'mAvk 1
4-31 S | )39N177 416913 1 | 160L
4-32 263038 | A—n"70-nN{7 1 | 3X6X85
4-33 264653 | 7ALATEY77Y 1
4-34 261117 | 9Y97° 1
4-35 269828 | FAIRY (W)W 2 | M5X16W
4-36 281208 | FAIRY (DWW 1 | M5X16W
4-37 281007 | A1 1 [ F3-9 04 _~1




5 - BCW233S
/&M




RHES HBRES B & & & % fis
5-1 221460 | K3 A% 1

5-2 220534 | hYnhn'—- 1 | EMR

5-3 210418 | IVERWIRANT 1 | 13X19X(+) M4
5-4 022865 | YIAVYFANT 1 | 8X10

5-5 219431 | 6 h9KHANT 1 | ZAunn' 3

5-6 237306 | M)7Uh{tEYA3 1 | BCW233S

5-7 230896 | £VIEYAMYI (AINFAF) 1 | H/C L




AKX
EsEHERRO
Ly K- b 42— EE 0120-898-114
ZFIFARER: AN9:00~PM5:00(t. B.#1B %k <)

Printed in japan 2015-03.SM

EMENEETY





